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+l%K% 33 17  7 3

~~~ar~d?~~n75~~~nr~Qsbbu~ila~ilsss~~~d  ?

w141Gb~10<  h plosn79bb~nbb~\9~aao~~~~~i~~~~in~i~~~~~~~~~~~  &&I

h = X = {0(33)+1(17)+2(7)+3(3)}/60  = 0.667

rthmin" TX) = em0.667(0.667)x/x!  , x = 0, 1, 2, . . .

P, = f(x=O)  = 0.5314, P,= 0.3415, P, = 0.1181, P, = 0.0090

&t.h E, = 60(0.5314)= 31.884, E2 = 20.490, E3 = 7.086, E4 = 0.54

&NW E4 < 1 ~WJW?~  E3 ka"a~~l~~~~~l~~~  X2 &A

x2  = (33-31.884)'+  (17-20.490)*+  (lo-7.626)*  = 3,83

31.884 20.490 7.626

do a = .05  L3lK!Tf~3-'-')  = 3.84 ?hdljt~s  Ho Tdl~Y~n"oSl~auq~~~~~~~~nl~~~~n~~~~

WUilWlU

Y 150
~'JI.$JC,  = ,jf(y)dy  = 0.5277, np = 0.2492, 9 = 0.1177, nc4  = 0.0263,

xc5  = 0.0263, ns = 0.0235
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70 110 67 68 75 80 68 82 104 92 112

84 98 80

Ho : F(x) = Fo(x)~fldmu  x

Ha : F(x) # Fo(x)ulud~aou x

fwrdoF~(x)~~~~uri~~~~~n~~~uaau~~~~ln~~fl~~u"dl~P~~~~w85  ara=siaeta~suberuulnq7M

Lihl5

emGa~t&Iiimn~d~  s(x) h4Cbiiaou  X &=hnnbY&Gu~

X: 58 59 67 68 70 74 75 76 78

S(x) : 1136 2i36 3136 6136  10136 11136 12l36 13136 14f36

80 82 83 84 86 88 90 92

16136 18136 19136 22/36  23136 24136 28136 29/36

93 94 97 98 104 110 112

30136 31136 32l36 33136  34136 35136 36136

Gkm&@bn~n~$~ilfJ  Lmldl  Fe(x)  ‘bmT~un~~~n73~dausn’7  X awil

Z=(X+q/O = (X-85)115

kb4ik.&i  P(0  s Z s z)=  F(z) ~milz~n"F~(x)  LLa~~an'lUa"or~~~~%~~lU  F(X) f% Fo(x)?4%  d

= IF(x) - F$x)l  n"snlm'io~~~

X: 58 59 67 68 70 74 75 76 78 80

FJ4 : .036 .042 .115 .I29  .I59 .233 .251 .274 .320 .371

S(x) : .028 .056 .083 .167  .278 .306 ,333 .361 .389 .444

d: .008 .014 .032 .038  .119 ,073 .082 .087 .069 .073

82 83 84 86 88 90 92 93 94 97

.421 A48 .472 .528  .579 .629 .681 .702 .726 .788

.500 .528 .611 .639  ,667 .778 .806 .833 .861 .889

.079 .080 .I39 .I11  .088 .149 .125 .131 .I35 .lOl

98 104 110 112

.808 .898 .953 .964

.917 .944 .972 1.000

.I09 .046 .019 .036

D = y t S(x) - Fe(x)  1 = 0.149
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D= ,~~rimaxW)  - FoW  Wi.,)  - F$xl)ll
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X S(x) S(x)-0.287 S(x)+O.287 L(x) U(x)

75.6 0.810 0.523 1.097 0.523 1

76.1 0.857 0.570 1.144 0.570 1

76.3 0.905 0.618 1.192 0.618 1

*77.7 1 .ooo 0.713 1.287 0.713 1

f-rm48o~uflur%oiu95%  ~iw~~'uPS,~~~,,n,,,eIs=a7n-iora~~~~~

1.0

t
0 0

0.8 - cc
L L

0.7- L c
0.6- . -- I .
0.6- - .-

c .-c
o.r- - f -

.0.3 - UCI - - *
0.2 - - .- L
0.1 - -Sbi) LW

0.0 1 A I 1 I62 64 66 66 70 72 74 76 78 i-
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x Y s,c4-sz(x) x Y S,W-s*(x)

206 1/5-O  = 6/30 251 415-316 9/30

209 l/5-1/6 if30 252 415-416 4/30

224 2/5-l/6 7130 257 515-416 10130

230 3l5-l/6 13130 276 5/5-516 5130

236 3/5-2l6 8130 278 515-616 0

238 4/5-2l6 14130

n's&whao~n"~fi~w~~~u  D&~&&14/30

o1tltwno dlM%  Ho Lihe% L.&J  m = 5 LLRz n = 6 N sz~u~u~l~q  0.05 r&%h?nqn

eroshaC?wtnaou  D Eh 2/3  w% 20130  OdaqdK6-h  aos~~iaoi9~~Uii17nej5=‘417n5~a~\9~~~

Tsknnhtk
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